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FN: SEF ZHUSH
HE: DEMAHY
tel: SYHFII el (LSAY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAIZEH H A Jl=gf = 250
150,000& x7H 128 12,600
203 R =& 3,000 3,000 0
03 A F=XH S =ZH| 3,000 3,000 0
OSYFEX =523 2t=3l
20,0003 *50H 33| 3,000
405 XHoHF S HI 1,070 2,150 A1,080
01 AL EZFH S 1,070 2,150 1,080
O MAEEE ZeH(UA)
1,070,000& = 1CH 1,070
HH2AZH(ZEE? ZHLE) 188,951 146, 367 42,584
AHE2IEH (RS AY) 188,951 146,367 42,584
ol 2| 188,951 146,367 42,584
101 @124l 188,951 146,367 42,584
02 JIEtA 2+ 188,951 146,367 42,584
OAIZEM HIef & el 2AH| 188,951
—=20 1,245,250 x7H «12& 104,601
—IRALEER 140,735, 180& *2.995% 4,216
—EJYEH 4,144 6513 x6.55% 272
— IR zEEE 140,735, 180& *4.5% 6,334
—1EEEE 140,735, 180& *1.5% 2,112
—dATHNHEE = 140,735, 180& * 1% 1,408
— &&=z 6,000,000 x4H 24,000
—ExE 80,000& «7H 122 6,720
o =EES]
105,000 *35A1 2+ /40AI 2+ x7H »12& 7,718
— ZHZ A 130,000 x7H 128 10,920
— It &HHl
1,245,250% *84/100%1/226* 140 Al 2t +7H 4,536
—8dnHsE 104,601,000 *8% 8,369
—ZNIRAY(ZUE)
4,150 *10A 2b+7H « 123 3,486
— =22 (A2S)
4,150 *BAl 2t+7H « 123 2,789
— S
420,000 *35A1 2H/40 Al 2+ 12 %43 1,470




N & o & AF & H Al A
20158 & =04 WS ALY MK
FN: 2P ZHUSH
Hu: DEINEY
tel: SYHFII el (LSAY) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
27 ZHnsSH 1,215,290 1,111,087 104,203
sz MNed 862,474 850,005 12,469
SEYHFIX 22 (nSAY) 742,378 737,540 4,838
EYFEX =S 739,378 734,540 4,838
201 Let24dy] 706,628 712,070 A5, 442
01 At 2teltl 138,008 136,650 1,358
OH=XUI(PDA S)+2l 228 L ARES
500,000 122 6,000
OS8=3X ¢ 2 JHE 8 Z2H E
& 100, 000& »13CH 53] 6,500
OCCTV &H=Ate E28 2l &Y
170,000 64 23] 2,040
OSBUFIA IN2Y S22+ A
100, 000 *35H 2 23] 7,000
O=SY=ZX e 228 M M
100& *10,0000H 33| 3,000
OMEHES R AIRMSKMN & CCTV HESEAM
A= 120& x15,00000 »12& 21,600
OS28=3X M2 2E83AH HH
180% *10,0000H x12& 21,600
OEYEFIX JH=dds 28+
70,000 *3Y «33| 12 7,560
Ot ol =) = (2M)
45,000 =20 x 122 1,080
OS28=3X HHHZ DXA eI 23,840
— 37 ¥ SE1IXAN 80& 12,0000 x12& 11,520
—UEE MEDXA 80& +100,0000H 8,000
—dRSANA HA 120& *3,00000 128 4,320
O28=Z3X HHE 27 == 19,980
—OEY YR O +42
1,500,000& 122 18,000
— NEHE AEIE ZH S LU=
15,000 128 180
—DEHE AEIIE ZEH AEX=2E
150,000 128 1,800
O= &l 17,808
—SYHFEXNHS 220 =S4 17,808
ENIRE 7,000 x2EH «20L x 128 3,360
OF2t &= 7,000 «7H 20«12 11,760
SeHE 7,0003 «4H«8L 128 2,688
02 3322l 568,620 575,420 26,800
OSEFEX ZR2H BRI 551,160
—UEHE DM ZE S| RERS 478,800
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FN: 2P ZHUSH
HH: HW2ARY (2T IHDLSH)
thel: JE2IH (RS AY)
SA - ZE-B(EA) - NRAY - B S il &t o il
02 JIEH R 2+ 352,816 261,082
OSYF=ZX &5 AIZHHAH A 352,816
-=20 1,246, 7003 x14H 123 209,446
—d2d2E 258,041,450& *2.945% 7,600
—EJIYEH 7,590,230& *6.55% 498
— =324z 258,041,450% *4 . 5% 11,612
— 1828 258,041,450& *1.5% 3,871
—&MHEE 258,041,450& *1.0% 2,581
—Jim4g
80,0009 *35A1 2H/40Al 2H+8H x 12& 6,720
- ELES
105,000 *35A1 2t /40A| 2t 14 122 15,435
— M Z A 130,000& x14H 128 21,840
—EZRIRAY(FUER)
3, 1603 x10Al 2t *35A1 2H/40A1 2+ x 14H «12& 4,646
— HItE Al
1,246,700 *84/100%86/100%1/226%140 Al 2t * 7,811
144
— &= 209,445,600 *8/100 16,756
—EAZ 4,000,000 *x11 44,000




>
A & 0l & AF 2 E A A
20158 & =0l & Bt ERXIOH ALY A
2M: E2
M N2 2 2= & HAA el
ol BOIIE S JIBHAIE ZAAC(BREXNLAL) (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
T2 40,092,000 15,232,200 24,859,800
Azt E2d 25 2 HAH 2 40,092,000 15,232,200 24,859,800
FAWE S JIBAIE ZHAY (B WEX 0L A) 40,092,000 15,232,200 24,859,800
=g~ A2 EADNEEE ASHTAIE EXSA 40,092,000 15,032,200 25,059,800
401 AIEHI L 20 40,092,000 15,032,200 25,059,800
01 A& HI 40,000,000 14,000, 000 26,000,000
s~ Mt TADEEZ ASHZTAIE X
= 40,000,000,000& * 14 40,000,000
03 Al 20 HI 92,000 32,200 59,800

O2g~+MN2

S At

ENDEEZ ASHZAE

=By

40,000,000,000& *0.23%

92,000




= o
A & 0l & AF 2 E A A
20158 & =0l & Bt ERXIOH ALY A
SA: SADHY D
M TAIEH Y X ALY
Gel: BRI T SXIONLAS (HwEXIONLAY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S AR Dt 329,368,028 378,595,096 AN49,227,068
SANEY 2 EXIOHE A 329,325,028 378,562,256 AN49,237,228
DX XA (B D E X ALY) 329,308,072 378,545,300 AN49,237,228
TwEXHEX 7 24 7,002,160 2,160 7,000,000
202 4 Hl 2,160 2,160 0
01 S LHOIYI 2,160 2,160 0
OHWE XL 2E As58 Ol
20,000 «3H »33] »12& 2,160
305 a2 S 7,000,000 0 7,000,000
01 thHaf=8 7,000,000 0 7,000,000
OHWEXIHEY As2EH 24|
7,000,000,000& » 14 7,000,000
Hui+ #HX3s 348,880 347,800 1,080
201 L2l 348,880 347,800 1,080
01 At 221l 348,880 347,800 1,080
OTDXTFASH H& 2S3AHA =S (HEAl
DE3IAHA) 500,000& *103| x2H 10,000
OXlEss ¢d231 10,000, 000& 23] 20,000
O#X=sS 2858 MZ& 16,000,000 22 32,000
OHXZE ZHYI 242
200,000,000& 14 200,000
OA2&3SI 2UHHIE 10,000,000 * 14 10,000
O&dEEwi= OlHAERX 22EH
50,000, 000& * 14! 50,000
OZelHd Ed ¥ E72 330,000 64«63 11,880
OFQee=n o HAXNE RO
15,000,000& *13] 15,000
K= XN ALY 46,270 25,347 20,923
101 @14 Hl 14,570 13,147 1,423
04 JIZHHZ2XRHEE S 14,570 13,147 1,423
OSJ & S dataes AR 14,570
—Jl=s 44,6403 1 2202 9,821
—FYaRsg 44,6402 *1 442 1,965
—x=g 44,6403 «1H 10 447
— ZE S| 500,000& 1 »23] 1,000
— 42 E 13,231,360 10. 1% 1,337
201 Let24d] 7,200 7,200 0
02 2324l 7,200 7,200 0
OeNEIsg dM4Z2d SR 2
600,000 122 7,200
203 YR =2t 5,000 5,000 0




2N
X ZH -
L= B

el

c
ol

c
il

ALK & 1t
AZH E STHEAS
I

Bt X7 EHXIOH 2 AL (B 1l &4 X OH

ZALY)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 A F=XH S =AY 5,000 5,000 0
ORalla & FeI2tg3l 5,000,000 5,000
207 A RO 19,500 0 19,500
01 2284 19,500 0 19,500
OHWAFZAISHIZ A & HE0|AFH &2
19,500, 000& 14 19,500
T X SXIOHEALS O THE olblbl 321,910,762 378,169,993 A 56,259,231
801 i8I 8l 321,910,762 378,169,993 A 56,259,231
01 Broldltl 321,910,762 378,169,993 A 56,259,231
Ououldl sl 321,910,762,000& 321,910,762
HAMALE 2 (TR XL AY) 16,956 16,956 0
A E AIRA SHHA 16,956 16,956 0
201 Let24d] 16,956 16,956 0
02 2324l 16,956 16,956 0
O=EX& | 8,478,000 »2CH 16,956
HE2HZHI (S AIHL D) 43,000 32,840 10,160
Jl2dyl (BN ALS) 43,000 32,840 10,160
Jl=dl 43,000 32,840 10,160
201 Let24d] 14,040 14,040 0
01 At 22/l 14,040 14,040 0
ORA2gH| 60,0003 «9H «12& 6,480
OJlEs &l 70,000 *9H 122 7,560
202 oddl 16,200 16,200 0
01 = LH 4 1l 16,200 16,200 0
OHWEXIHE AL =& (4|
150,000 x9H «12& 16,200
203 YR =2l 1,800 1,800 0
04 FN2IELSZ=AH 1,800 1,800 0
ORN2EYEF=AHI 150,000& 128 1,800
405 XH&bF S HI 10,960 800 10,160
01 AL ESFH S 10,960 800 10,160
OZFH(R2ULIEHZE,UA) 1,240,000& »5CH 6,200
O&EXr= AL (CHAI) 4,000, 000& = 1CH 4,000
OZElE (&) 760,000& = 1CH 760




Al Of &8 AH & B Al A
20158 & =0l & Bt ERXIOH ALY A
2N S A A
M BT SHXIOHE
Gel: BDXT SXIHAS(HREXNLAY) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S AL TH 24 Dt 36,261,350 21,485,010 14,776,340
S X+ S XIOH e 36,230,000 21,431,250 14,798,750
EDX P X ELAS (B DE XS ALSY) 4,000 5,000 A 1,000
BIXIOHE 2t |02 o 4,000 5,000 21,000
203 ¥ S =&l 4,000 5,000 A 1,000
03 Al =AY R =&Y 4,000 5,000 A 1,000
OSHRINEY 2H HRFA 4,000,000 4,000
FANE S JIBAE LAY (BT ERXIJHEALY) 36,226,000 21,426,250 14,799,750
NEdZecse2 ASMNIUHM 2 15,000,000 20,650,000 25,650,000
308 XX EHH SOl A 15,000,000 20,650,000 25,650,000
10 JIEtRE= 15,000,000 20,650,000 25,650,000
ONgeZ=stc2 AU 2¢
15,000,000, 000& 14 15,000,000
K& 57568 ASHEAE AX 21,226,000 776,250 20,449,750
401 AIEHI L 201 21,226,000 776,250 20,449,750
01 A& HI 20,000,000 776,250 19,223,750
O=X& 575 RITE ASHLAMNE EX3
At 20,000,000, 000 14! 20,000,000
02 2eltl 1,180,000 0 1,180,000
O=2XN& 726 R3IE=2 2SHLAME EX3
At 20,000,000, 000& *5.9% 1,180,000
03 Al 20 HI 46,000 0 46,000
O=X& 575H RITE ASHLANE 813
At 20,000,000, 000& *0.23% 46,000
HE2AZHI (S AITHAD) 31,350 53,760 222,410
Jl23H (BT ALY) 31,350 53,760 A22,410
JlE2&l 31,350 53,760 A22,410
201 -4l 12,480 21,840 A 9,360
01 At 22l 12,480 21,840 A 9,360
OR N2l 60,0003 «8H 12 5,760
OJles gl 70,000 «8H x12& 6,720
202 O4dl 14,400 25,200 A 10,800
01 = LH 4 bl 14,400 25,200 A 10,800
OJI2g =& 150,000 x8H »12& 14,400
203 YR =2t 2,400 3,000 A 600
04 EASIYRFLH| 2,400 3,000 A 600
ORN2EYE=AHI 200,000& 128 2,400
405 XtAHE SHI 2,070 3,720 A 1,650
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